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Honors Precalculus Name: MAY o W

Chapter 2/1%' 6-Week Test (F-201

Part 1 — Calculator Active %)
\ 100

1 The total sales of a company (in million dollars) for each year are shown in the table g

below.
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a) Find the least squares regression line for this data.
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b) Interpret the slope of the regressmn line in terms of the context of the problem.
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c) Use the least squares regression line as a model to estimate the sales of the
company in 2012. Show set-up. Include units in your answer.
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2. Find the sum of the following infinite geometnc ser:es Suggestion: begin by writing
out terms. Show set-up.

ol Xy Y B T A
Z32n—2 G 3" 1 .
n=2 5
'L% \ iy i Z-__ 2
G =% v=% g5\ B A
.= -5 Q/
'
O E .
‘-—-;*a = i_ ?:_' °<1-— -
[ % e 3 . 5 1
a,




3. After an oven is turned on, its temperature, T, is represented by the equation
T = 400 — 350(3.2)7%™

where m represents the number of minutes after the oven is turned on and T represents

the temperature of the oven, in degrees Fahrenheit. How many minutes does it take for

the oven’s temperature to reach 300° F. Solve the problem algebraically and round

your answer to the nearest minute. —
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4. Two schools opened in the same year. Each had an initial population of 300 students.

Colonial Village School's population increased constantly at a rate of 130 students per

year. The population of Walker Middle School increased continuously by 20% per
______.__.—b

year.

On the 10" anniversary of the opening (end of year 10), which school had the greater
population and by how many students? Include an expression for the population of

each school and show your set-up. @ : @
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5. For f(x) = — 5x° + 3x* - 2, give the fol[owmg

o @O \

b) Range:

c) End behavior:

d) Zeros:

e) Y-intercept:

f) Local maximum(s):

g) Local minimum(s):
h) Where f(x) is increasing:.

i) Where f(x) is decréasing:
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6. Given the sequence: 6, 12, 20, 30, 42, 56, ... , which of the following is the recursive

form for the sequence?

a.ti=6,th= n+2(ts+1) -\—lg?_+7_(g aas B Ly ARG T -

b.t;=6, th= (tha + 1)(N—2) b, w(LavdlasiyED ¥
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7 Given the sequence: 1, 3, 3% 3%, . . ., how many terms of the sequence must be
added together for the sum to equal 3,2807 Show work. ( '
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8 The first term of an infinite geometric sequence is 2. The sum of the sequence is 6. k= f‘g%’

What is the common ration of the sequence?
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9. Is the following series convergent or divergent? Justify your answer. If itis
convergent, give its sum. Show work.
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Honors Precalculus Name:

Chapter 2/1°' 6-Week Test (F-2013)

/_’/
Part 2 — Calculator Inactive
|
The accompanying diagram represents the

biological process of cell division.
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If this process continues, which expression best
represents the number of cells at any time, 1?

A t+2 B. 2t @t‘ @2’

8.

Which is the equation of the graph below?

O
D. y=2%
9.

The graph of the equation y = (})* lies in
Quadrants

~
A Tand IV a.nd I

C. DI and IV D. I and IO
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10.

If log.(x* - 1) =log, 8, the the solution set for x is

C\. {3}

. {1}

.
5
Ifr=1 'iaw, then logr can be represented by

A %'ngA + % logB - logC
B. 3(logA® +logB—1logC)
C. llogA*+B)-C

@ flogA + HlogB - flogC

12.

For which value of x is ¥ = logx undefined?

@0 B. 4 ¢ =z’ /D. 1488




13. Solve log;(x? — 4) — logs(x + 2) = 2. Show work.

wr=-U
loqlg 5 + - =2

Xt-y
Z— =9
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X* -Gy -72% =0
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14. Graph f(x) = 1.2e%**and give the following: @
a) Domain: @
b) Range: n B

L2

c¢) End behavior:

d) Zeros:

e) Y-intercept:
f) Where f(x) is increasing:

g) Where f(x) is decreasing:
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15. Graph f(x) = — and give each of the following:

a) VA O 4

b) HA: @ ) pEat
— \! >

c) Y-intercept: @ } o -4 i

) P d | N
| : \
d) End behavior:

e) Behavior at the VA:

f) Domain:

g) Range:

16. Givenf(x):’f_:; LXF_“\%OL)C-?S)
%>

a) What is the domain of f(x)?
b) Whats the range of f(x)?

c) Describe the graph of f(x).




17. Solve x3 + 2x? > 3x algebraically. Show work.
X 2

+ 1 ~3x s - Bt - +
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18. Solve e?* —e*¥ — =0 . Show work.

(xe%_'g S(‘E’x"f 7_.} = -
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19. Find the equation of the slant asympﬂote of the graph of (x) = _?_2:2 . Show work.
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